&ﬁahm:m] [ e 5fE gt #
tal No. of Questions : 18] . [ Total No. of Printed

D-191200-B
faw= : fag=

Subject : Science

@ : 39 ] - [
Time : 3 hours ) '

[ Maximum Ma
e : Wl v T Wi
Note : Attempt all questions.

3T : masqiquﬁsmtlmﬁm(m,!!@(ﬂ)@'
8 (V) THE § I TS VS H 5 T § aT s T W 1 3%

Fefed ® ) gfe wifim faendf wor & v fow g el =
ot ge[ *)

Question No. 1 is objective type question. It consists of
Section (A), Section (B) and Section (C). Each section has
5 questions of 1 mark each. Visually impaired students
follow the instructions as given with the questions.

-1 (Eue-3r) wE famen e fefan
(Section-A) Choose and write the correct option :
() ol Afrn v €, wifE:
(37) & gweeivas R §
(%) oy =1 AR B e ¥
(¥ TEFa P WEAR
(7) =t s o oré ot &

Noble gases do not react with other elements, because :
(a) they are monatomic gases

(b) their atomic size is small

(c) their outermost shell is full

() they are found in abundant amounts

=W

Instruction -
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12)

R it YRy e D i ¥

(iii)

(d) -‘convex or nlane

(#) CaCl,y Yo &

(W) CO, NN &

() wel) sreniiva wt

() vl ywa

Plaster of Paris hardens by :

(@) losing CaCl,

(h) absorbing Co,

(c) absorbing water

(d) releasing water
ﬂ&ﬁwﬁaﬁﬂhmﬂ:gﬂd\tﬂmﬁgtﬁamqtm

!ﬁﬁaﬁmmaﬂtm#ﬁammmﬁmﬁm
mmmmﬁ,ﬁmmm:

(37 s
(%) W=
(%) s
(%) I svoan wwae

If a mirror forms erect image for objects

and focus, and it forms real-inverted im
anywhere between focus and infinity,

(@) concave

Placed between pole
age for object placeq
then the min‘or is .

(b) - convex

(¢) plane

Bl =B
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(3]

(iv) F9 9 5 % 2mam wer, AW & s ek otk s ¥ snn

)

31 & fg ¥ 1 A e semaor ¥ 2
(37) St st

(%) 9WSIW S

(%) fwfaa sin

(3) Wit

Forclimbs of dogand sheep arc for walking, whale forswimming
and thosc of bat for flying. All these are examples of :

(a) analogous organ

(b) homologous organ

(¢) undeveloped organ

(d) Allof the above

W~ % IeHl & S & fafr=r =l S wer s €
(37) @ e

(@) e 'R

(¥) A9uTH
(3) IR

Different levels of producers and consumers of food-chain is

callcd as :
(a) food web

(b) trophic level
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(3]

(iv) @aﬂgtmﬂaﬁ,%#mmmm%m

)

3G % T ¥ 1 A frwd Semaur 2
(30 G sin

() wwIw s

(%) R sk

() FHIwh

Forclimbs of dog and sheep arc for walking, whale forswimming

and those of bat for flying. All these are cxamples of :
(@) analogous organ

(b) homologous organ
(©) undeveloped organ
(d) All of the above

Different levels of producers and consumers of food-chain js
called as :

(a) food web

~ (b) trophic lcvel

(") decomposcrs

@ P
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-1

[4]
(woz-u) T wr W I S
(Section-B) Fill in the blanks :

() TR faer %1 pH AR — S ¥
The pH value of a neutral solutionis __.

(i Mﬁmﬁmﬁﬁmw#mmwﬂm
= whism — Sean §)
The process of heating an ore at a temperature a little below its
melting point in the absence of air is called _. '

(i) = e T 9w —
Heat is not matter instead itis __.

(iv) ST T g S Wit i, s 3t — g d
Image formed by a plane mirror is erect, virtual and _.

(v) w3 W WA e — WP & R wi & i Wi
Al aftedl w1 frdem S d
___gland present in our brain that controls hormonal secretions

of several other glands in our body.
(Tue-w) 3w ww MY :
(%) (=)
() smyfrer s e -
(1) WG g § - TR W few
(iii) v Sl W -

C(v) TR Pt e - A

e o

/ N\ '

. '.-Et

‘(- -
o T

[
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ruction : Question Nos. 2 to 6 are very short answer type questions.

-4

-5

y mmmt?

.. What is spore?

| st AR EE?

s ; Wlm is abiotic component?

. [S]
(Section-C) Match the following :

(A) (B)
(/) The modem periodic law - Silk
(i) Natural polymers are —  Direction of the magnetic field
(fif) Nuclear energy source -~  Bacteria
(i) The magnetic lines of ~  Moseley
force determine .
(v) Decomposer -~  Uranium

: Y HHIS 2 q 6 T ety vE €)1 W@ T |
2 3% wEfed € (WS W W Afvsaw we-d
30w ¥) htt,

Each question carries 2 mark ;. (Maximum word limit of
each answer is 30 words)

HAraR ) i 2R TegfitEm & wdq F 1 Wi v a g ?
Why are copper and aluminium containers not used to store pickle?

CH,OH %1 JUPAC M fafaq|
Write [UPAC name of CH;0H.

hai s 3 2 e ffe (14
Write down the two benefits of use of solar energy.
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-9

F1-10

T3

'mstruction :

79-11

[6]

mmmwwmmtlmmm
3 I® IEfa %) (Wmaﬁaﬁamm—m

5072 %)

L1

istruction : Question Nos. 7 to 10 are vgry short answer type questions.

Bach question carries 3 marks. (Maximum word limit of
cach answer is 50 words)

— 40°F %1 Afcagq 7 fafEg)
Convert — 40°F into Celsius.

ToaE U4 9 240 H i 97 i fafeq)

Write any three differences between plane and convex mirror.

wAftin & g w1g w1 fraw fafag)

Write Fleming’s right-hand rule.

1 SR 1 T Rt aEm Yt % faw & SR §
maH A MW E?

Was the extinction of dinosaurs due to the evolution of better species?
Give your opinion on this.

v FEE 11 § 14 % Agewid W §1 W WA W
4 3% swEfE T (V% W W Afuwan w=-d

75 0% )
Question Nos. 11 to 14 are short answer type questions.

Each question carries 4 marks. (Maximum word limit of
each answer is 75 words)

-
-

s Tad aRoh # Al W HEEE ¥ T ey SR d
af (agE) SR A A A W Aad F A F 7T 97 W

muﬂaﬁam?

How the valency and size of atom of an element change when you

i move from top to bottom in group and left toright in period in modem
. periodic table? |
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[7]
T
OR

T Sfufr Rl wed € 2 & e AR

What is neutralization reaction? Give two examples.

[2+1
re-12 o R e € 2 vom s 4R frmr o €2

[l
What is vinegar? How is it manufactured?

aar
OR

WA % e o Fmio fiee war g § 2 ol 3t

How are soap-micelles formed? Describe.

WI-13 SERE & s ® € 2 St 3 Frl = fafea

[1+1+
. 'Who is the father of Genetics? Write three laws of heredity.

T
OR

wiar & faer ¥ fagia & wR fgsil = 2 wifeg)

Describe four points of the theory of evolution of organisms.
C u-1e  wE-dem @t fe 3 0, o freed ¢, w1 fr fageit ¥ swia
¢ i Wi : '
(H feg=
(i) =wirea fa |
(it) wraafrl (i )
. sire; gRe st et Aiten R & A W SR Rl

[14
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[8]
0, gas is released during photosynthesis process, describe it on the
following points :
(i) Principle
(ii) Labelled diagram
(i) Precautions (any three)

Note : Visually impaired students write working mechanism in place
of labelled diagram.

Hear
OR

o & =l ¥ R = i e Wi ¥ 9 S o fafg)
e : f% s faremeT a3 & v W @ 5 vl s

Draw a diagram of stomata of Rheo leaf and write any two functions
of stomata.

Note : Visually impaired students write definition of stomata in place
of diagram.

yaor : mmww&mmﬂmtlmmm

5 siw amifa ¥ (7% IR R s W~
100 9% ¥)

ustruction : Question Nos. 15 and 16 are long answer type questions

Each question carries 5 marks. (Maximum word limit

of
each answer is 700 words) '

15 mmmmaﬁmas&mﬁmmmmmm
| mﬂ;mwmmtlﬂ?ﬁammn

| Az W%-Mﬁﬂrm-wawm%m#mm;'
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(9]
Whﬂl any empty test-tube is submerged inclinely in a water filled
beaker, its surface appears silvery shining. Why? Explain with
diagram.
Note : Visually impaired students explain the reason instead of
drawing diagram.

Sraar
OR

mﬁmmmmmwmmtuﬂ?mmmn
W : R il et o 3 w7 W 39 R0 % =T T

The position of fish in a pond is not same as it is observed from
outside. Why? Explain with diagram.

Note : Visually impaired students explain the reason instead of
drawing diagram.

(1) 3w =1 frm fafag)

(%) forvamr (V) aon faga ura (7) & <fa ar et Q0 & e ey
w1 ot S 2+

e gfte mfta farerdt 7% & T4F W AR %1 W 3 v fafarg )

(a) Write Ohm’s law.
(b) Establish relation between potential difference (¥) and electric
current (/) by plotting graph. '

. Note : Visually impaired students write definition and mu': of
--' resistince instead of ploting graph.
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[10]

aregar

OR
mﬁmmmwt?mn}-&.ﬂs“*‘“" :
o e &1 ¢ i 3 it et 1 g R AR RO

whey w1 WA fafag) [+
L wmmmmtmwmmtmﬂ
T FT )

What is series combination of resistances? You have been given
three resistances R,, R,, Ry Q. Connect them in series combination.
Draw its electric circuit and write the value of equivalent resistance.

Note : Visually impaired students derive formula of resultant

resistance instead of drawing electric circuit.

Prder : mquﬂwﬁﬂaﬂﬂqmtlmmm
6 3% Fwife § (mtsmfﬁahmm-m
150 7% ¥)

Instruction :

Question Nos. 17 and 18 are long answer type questions

Each question carries 6 marks, (Maximum worg limit of
each answer is /50 words)

HeT-17 m%thﬁmﬁ*ﬂmwm,
(3) I wo (W O )

() MWmimmmm :
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A

[11]
: Discuss the extraction of iron from hematite as per the following
steps :
(@) Concentration of ore (any one method)

(b) Reduction of oxide to metal (only chemical equation)

Srear

OR

Frerfefaa gl ¥ -3 =i swd fafag
(37) TREeA
() TR

Write the commerrial uses of following non-metals (three each) :
(@) Hydrogen

(b) Nitrogen

wwR-18  (3) mﬁquﬁ@mmﬁmmtﬂ?

(%) e Tt Rl FEd € 2 fel @ em Wil o ma s -

il &1 i W [1+1

(a) Why formation of urine and its elimination is necessary in
human?

(6) Whatisplant hormone? Write names of two plant hormones and :

. describe any two functions of each.



https://www.studydiscuss.in

[12]
arerar :

OR ‘

(&) oo = T 1Y 5 oy st 3 Y Yo daa € 2 TEET

(=) e sfeanil 5 wra § i fe-fe 960 = =19 & 9
ey (i 777) ?

(@) How plants and animals are related to each other for food?
Explain.

{b) 'What are the different aspects that need to be taken care of for

the health of pregnant women (any zhree)?
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Wa : 340 |

| o weiY WY st : 18 )
Total No. of Questions : 18 ]

Time *3 hours ]

D-191200-C
faua : fagm=

Subject : Science

[qod® - 75

[ Maximum Marks : 75

[ gAY o : 12
| Total No. of Printed Pages : 12

W : Tt wyr g@ SR

Note : Attempt all questions.

Fder

Instruction :

W % 1 TS IE § ) T @e (H), €98 (F) W
9z (V) Wim § 1 TRF aEd s WA § TR IE W1 3%

swfea €)1 3fe wfim faandf v & o Ry T A& =
Wt g +E)

Question No. 1 is objective type question. It consists of
Section (A), Section (B) and Section (C). Each section has
5 questions of 1 mark each. Visually impaired students

follow the instructions as given with the questions.

-1 (@vz-31) we fawen g fafag

(Section-A) Choosc and wrilc the correct option :

)

WEERE I & W ¥ fag fafu e S wwi ¥

(37) TR JUFHT
(7) T YR
(®) Fm T

(7) fae@ AvweA

Method used in concentration of sulphide ore is :
(a) magnetic separation

(b) gravity scparation

(c) froth flotation

(d) -electrolysis

[1x5=
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2]
(i EAFEE wgAt:
(37) NaHSO,
(¥) Na,CO,
(@) NaHCO,

(?) Na,COy'10H0

The chemical formula of baking soda is :
(a) NaHSO,

(b) Na,CO,

() NaHCO;

(d) Na,CO310H0
(3 v S

(%) WErnTY A =i

(%) at sl

(@ swwwh

The energy gencraled due lo oceans is:
(a) tidal encrgy

(6) ocean thermal energy

(c) wave encrgy

(d) All of the above
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13]

(iv) T 8 F 70F F I8 W@ 3 AR, SHINA AMFOAL

v)

W R 23 €1 Sw N wrww g e
(37) 3ds.

() 33 Aww

() 38 afus

(D 3

A lens is kept on the book and then raised by 3 cm. The text

now appears crect and larger. The focal length of lens is :
(@) 3cm
(b) lessthan3 cm

(¢c) morethan3 cm

@ 3cm

frefafea % wwefa @l €

(37 SmRE % va AR fesl & va

() WA e sl wos & el

(%) FFfeaFaR A Ao

(?) wRE & va sl & &

Analogous structures are in the following :

(a) wings of bat and butterfly

(b) gills of prawn and fish

(¢) thoms of bougainvillea and tendrils of bottle gourd

(d) wings of bat the legs of horse

P.T.O,
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w-1

4]

(mvz-w) i Tl w7 Hi
(Section-B) Fill in the blanks :
() d-weitw Hae W — FE 8
The elements of d-block is called __
(if) SN E TE N N TG F T KA BAN 1 oC =R % e
s 8, — wear ¥

The quantity of heat required to raise the temperature 0
entire mass of the substance by 1°C is called ___.

(iii) e i e 41 ¢ el R g &, T T

FA w1 WY — T
Light ray falls normal on planc mirror; the angle of reflection

willbe __.

(iv) it wiftfedfoes a5 & ferg il @ frafis — €M)
The pyramid of encrgy willbe for all ccosystems.

) WRARE NG E shar v o, AR
ot 79 T8 T F FRA W T T AW w0 € T8 R e
— g Ea ¥
When we asleep at night and are bite by a mosquito, we often
try to kill the mosquito. This action is controlled by _.

f the

(wvz-w) IMan v Mg :
(%) (@)
() Y& &R - IvRE
(1) SRl EF AT - degEw
(iii) "IRY ] VI WY -  NaOH
(fv) fergn i @ wiftew sl o
e ¢ - R
(v) TARE - fagatim

[1x5=5

[1%5

SC
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Instruction :

W¥i-6

(5]
(Section-C) Maitch the following :
(A)
() Strong base
(i) Allouope of carbon
(iif) Polymers obtained from plants

(iv) Convents clectrical energy into

mechanical cnergy

(v) Producer

(B)
Graphite
Cellulose

NaOH

Green plants

Electric motor

YA #H% 2 ¥ 6 7% AMeEeiy TE §) T YT\ |
2 3% IEfe §1 (VS IM N Afusaw w=-um

0T=?)

Question Nos. 2 to 6 are very short answer type questions.

Eachquuﬁoncuﬁes!muh.mmmwoﬂﬁmitof

each answer is 30 words)

AR T ¥ pH ¥ 9F 6 T ¥ 1 < T 91 W @& pH | 7 wRadw

Tm?

The pH of fresh milk is 6. What will be the pH when it sets into

curd/yogurt?
CH,COOII %1 IUPAC 7™ fafa)
Write IUPAC name of CH;COOLI.

W & o 3 Iyam fafag)

Wrilte any two uses of biogas,

W e?
What is Budding?

Fames s d?
What is Biotic Component?

[+
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(6]

Fder : W FHE 7 A 10 7% Afregewiy WA €1 T0E TE@ W
3 3% Imifm ¢ (mmmmw-m

sowz t)

Instruction : Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word limit of

each answer is 50 words)
WA-7  —40°C % %rerge § wgfaw)
Convert -40°C into Fahrenheit.
wA-8 A wfafins st arafas wfiifem 3 F1§ 97 st fafaw)
Write any three differences between virtual image and real image.
-9 Wt 9 T Pram fafa)
Write Fleming's left-hand rule.
WPA-10 I AT F wgd AR F1 A6 ) WS W B W G W@ ? qoA

L2 s 0 I
Doyouthmkthcmcruseinhnmmpopuhﬁmbasmyeﬂ‘ectof

tiger’s population? Describe.

Fder : WA HHE 11 ¥ 14 T AEIT T T TRE T W
4 3% omifen €)1 (YR® IWM w Aywaw yw=-dmw

7502 ¢)
Question Nos. 11 to 14 are short answer type questions.

Each question carries 4 marks. (Maximum word limit of

cach answer is 75 words)

WET-11 ST & 9 A ¥ 7 g & ot Pl ) Rl (14

Who is the father of Genetics? Write three laws of heredity.

Instruction :

T
OR
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w1-12

(7]
<htal 3 forre 3 frgia & WR Fargail %1 a0 IR
Describe four points of the theory of evolution of organisms.
YEm-dv F fiFn F 0, T free 8, F1 Fea fagaell & avin
T Hifg ;
() faz=
(i) ifRa fa=
(iif) W (F¢ @)
M ;&mﬂmmmmtmwmw:
O, gas is releascd during photosynthesis process, describe it on the
following points :
() Principle
(if) Labelled diagram
(iif) Precautions (any three)
Note : Visually impaired students write working mechanism in place
of labelled diagram.

aar
OR

it ¥ vt & =i w1 o v ' & W ° v fafa)
W2 : gfic T Rrenedf fes & QA W ©@Mer 1 vy g

Draw a diagram of stomata of Rheo leaf and write any two functions

of stomata.
Note ; Visually impaired studenis write definition of stomata in place
of diagram.

[1+2+]

[2+



https://www.studydiscuss.in

We-13

wyi-14

e

av1-15

W 3 Tl = Pior e Yo € € 2 =i 3R

Instruction : Question Nos. 15 and 16 are long answer type questions.

P S wron w9 W @ A IO SR A
Tl (W) ¥ W R A o W e F il A 7 A W R )
YR YiEd em ? [

How the valency and size of atom of an clement change when you
move from top to bottom in group and lcfi to right in period in modemn
periodic table?

3rear
OR

I sififiea fird wea € 2 2 e S 2+

What is neutralization rcaction? Give two cxamples.

R st T Tac A fFnTme? [

What is vinegar? How is it manufactured?

Haar
OR

How are soap-micelles formed? Describe.

WA wEE 15 W16 iy v ¥ WR@E TR W
5 3% amifen ¥) (W% IW RN afuwm w-dm
100 71 §)

Each question carries S marks. (Maximum word limit of
each answer is /00 words)

mﬁmmmmmwmmmw?mm
TR |
W:gkmmm#mwawmwamwml

The position of fish in a pond is not same as it is observed from
outside. Why? Explain with diagram.

Note : Visually impaired students explain the reason instead of
drawing diagram.
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w1-16

191
3pyar
OR

& Tt e e W T Y W ¥ fireon Ten s €, A @
T SR ¥ W e e 2 & 1= 2 e e v

N : gfe iy Areneff A & v T 37 92 % o B =0 w9

When any empty test-tube is submerged inclinely in a water filled
beaker, its surface appears silvery shining. Why? Explain with

diagram.

Note : Visually impaired students explain the reason instead of

drawing diagram.

wiwdl 1 Avitew e W €2 Svwr R, Ro, Ry Q & W9 whRy
fou e &1 5% Avieew A SgH qEOA W faga Tiey e aiomsh
vty =1 wM fafagi [2+]

12 : g Aty Rrene Prge Wi & WA T IRV M & = Bt
T FN

What is series combination of resistances? You have been given
three resistances R, Ry, R; 2. Connect them in series combination.
Draw its electric circuit and write the value of equivalent resistance.
Note : WVisually impaired students derive formula of resultant

resistance instead of drawing electric circuit.

Heqr
OR
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[10]

(37) 3im %1 fraw fafag) .

(%) R (V) 7 g v () 3 e e et Q) & < WA
+1 vifa Sifag)

e : g Tfim frare 7w 3 v v Ay 1 9RTY 3 WEE fArET

[2+3=

(a) Write Ohm’s law.
(b) Establish relation between potential difference (V) and electric

current (/) by plotting graph.
Note : Visually impaired studenis write definition and unit of

resistance instead of plotting graph.

fdvr : WA F9%F 17 W 18 Jdeaiy v &1 7@ W W
6 ¥ Jnfed €1 (WRF IW 1 Agsay w=-"mW

150 9= )
nstraiziton” 3 ” “Question Nos. 17334 18 arc long answer type questions.
Each question carrics 6 marks. (Maximum word limit of

cach answer is /50 words)

w-17  Frefafaa sugs % da-d wmEafew 3w fafe ; [3+3=
(37) wregeA
(3) A

Write the commercial uses of following non-metals (three each) :

(@) Hydrogen

(6) Nitrogen
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uyi-18

[11]
Srerar

OR
TWeEE | ot ¥ frapdu ) frefafed & F s T awane :

(37) 7w 1 g (8 o fafu) 2
(7) iRE 1 g ¥ Y=g T Had TS qHem

Discuss the extraction of iron from hematite as per the following

sieps :
(@) Concentration of ore (any one method)

(b) Reduction of oxide to metal (only chemical equation)

(37) WIS 1 AHT U T 9g A7E H fFw wwn weEiva © 2 wRe)
(7) i wfeenstl ¥ @R ¥ fag fF-fF il = @R @ e

fee (FF @77) ?

(@) How plants and animals are related to each other for food?
Explain.
(b)) What arc the diferent aspects that need to be taken care of for

the health of pregnunt women (any fhree)?

ar

OR
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[12]
(37) w3 3 3 T o) a1 e fFrewTe A ¢, ®i? (3]

(@) ey Trii il e § 2 il ) e Tl F M A TR AR
Fl 1T HE) [1+1+1=3]

(@) Why formation of urine and its climination is necessary in

human?

(b) What is plant hormonc? Write names of two plant hormones and

describe any two functions of each.
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